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Mia nmpoTaon, SU0 onuaoieg

(One sentence, two meanings)

While in English the relationship of the
constituents (subject — object) is indicated

by their order, in Greek this relationship /—\
is indicated by their case (subject =

nominative, object = accusative). To ayobot pilnoe n xoméra

N

To ayoépt pilnoe Thy xoméia

When one sentence has two meanings, we
say that this sentence is ambiguous and
might be represented structurally in two
different ways:

S: sentence }
S: verb (
NP: noun phrase r’fj
VP: verb phrase ]
To ovvvepo pAépTape To umaiovt To ovvvepo pléoTage To Umaiov
S S
NP VP NP VP
A% NP A% NP
To ovvvepo @Aéptape TO UTAiovL To umaiove @Aéprape t0 OVVVEQPO



In clauses where the noun endings do

not reveal their case (for example neuter

nouns), we rely on the context or on our

conception of the world to interpret the

sentences. To xopitol uvpLoe To Aoviovdr
To et xvviynoe to Alovrdol

The prepositional phrase (PP) can be
related either to the verb phrase or to the

object noun phrase (NP). i
S
/\ y i A "

NP VP R\ — = T
/\ Houtog eiye ta xidhia;

Vv’ PP O Zayivyg

/\
\Y NP

v NP Howog eiye ta xidha;

/\ O xAégptng

O Zayivns mapaxoiovBovoe tov xAé@Tn ue Ta xidlia
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ACTIVITIES
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1. In the following sentences change the order of the constituents and
indicate the direction of the action with an arrow

The girl kissed the boy The boy kissed the girl
1. The cloud approaches the balloon

2. The statue fell in love with the pigeon

Can you show the direction of the action with an arrow? What happens
if you change the order of the constituents in Greek?

e Ve P a‘
1. To xopitol ptAnce to aydoL (Zar
2. To ovvvepo TANoLaleL To uTahdve )

3. To Gryahua eQTEVTNHE TO TEQLOTEQL -

2. Can you find which of the following sentences are ambiguous? What
makes the other two sentences non ambiguous?

IMavtoetmre pia xoh Tov @iy
[Mavroetnre TV ROAOTEQT TOV QIAN

IMavtoetmre N ®oAlTEQN TOV QIAY

The ambiguity of some sentences lies not only in the absence of overt nominative-
accusative distinction but also in the fact that the subject is optional in Greek.

3. Subject optionality might also result in two readings r‘“
in embedded clauses:

O Zayivng etde Tov ®AEPTN TV OO TTOV EUTTOLVE OTO VITOYELO S
bl .____']
e |
1 |

) ) ~~1] -
ITowog éumanve oto VLOYELO; < R
S




